
SAP ABAP table T77PRNL_IN_SUM {Pension Return: Sum up indicators}

T77PRNL_IN_SUM

MANDT [CLNT (3)]

APPL [CHAR (4)]

INDIC [NUMC (4)]

SUM_INDIC [NUMC (4)]

ENDDA [DATS (8)]

T000

MANDT [CLNT (3)] T77PRNL_IN_SUM-MANDT = T000-MANDT 
0..N

1

T596A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPL [CHAR (4)]

 T77PRNL_IN_SUM-APPL = T596A-APPL 
0..N

1

T77PRNL_IN

MANDT [CLNT (3)]

APPL [CHAR (4)]

INDIC [NUMC (4)]

ENDDA [DATS (8)]

 T77PRNL_IN_SUM-INDIC = T77PRNL_IN-INDIC 

0..N

1

 T77PRNL_IN_SUM-SUM_INDIC = T77PRNL_IN-INDIC 

0..N

1


